Efficiency vs Dxy(PV)

0.8,

efficiency vs dxy(PV)

0.

)5 =20-15-10 -5 0 5 10 15 20 25

TP dxy(PV) (cm)

[ Efficiend]

—=— /.JCMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mKkFit-DQM_new132

= DQM_TT__mkFit-DQM_newfast132

0.8

0.

0

0.5]

efficiency vs dxy(PV)

0.4

0.3]

0.2]

0.1

aea-

Ratio

0.

1

==

Efficiency vs Dz(PV)

931768060402 0 0.20.

40608 1
TP dxy(PV) (cm)

S 08 :
a :
5 o7 :
2 :
> 0.6} .
o .
5
5 0.5 :
£ :
@ . . .
0.4 : : :
ogf- - : :
0.2 : e Beeens
S TN VU S J
o +R : :
§ : :
) S A | EEEETERRRT TR
0'—30 -20 -10 0 10 20 30

Efficiency vs Dz(PV)
1.

TP dz(PV) (cm)

iy

o
)

efficiency vs dz(PV)

o
e

o
»

T

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


